BPM processor Investigation

Analysis of March '08 ATF data




Setup

* 4 processors on BPM 10.

 Stripline signals split 4 ways each with a
single 4 way splitter.

* Processors calibrated against magnet
Z\V8X.




Sum Signals
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Difference Signals

Processor #1 difference signal

Processor #2 difference signal
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Case 1 - Example using peak value only.

Case 2 - Example using window size of 30 samples
centred about the signal peak (this case gives the best
resolution results).

Case 3 — Example using a wide window, encompassing
all features after the main peak.
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Calibration results (case 1)

Difference from processor 1 V'S Position from mag current

Difference from processor 2 V5 Position from mag current
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Difference from processor 3 VS Position from mag current
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Difference from processor 4 VS Position from mag current
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Mormalized difference from processor 1

Normalized difference from processor 3
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results (case 2)
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Normalized difference from processor 1
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Calibration

results (case 3
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Calibration Constant VS Integration window
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Resolution results (case 1)

Processor 1 residual

Processor 2 residual
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Processor 2 residual
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Resolution VS Integration Window
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Processor #

Calibration constant (x 1e3)

Error on Calibration constant (+/-)

y crossing

Xx*2/NDF (calibration curve fit)

Resolution (um)

“2/NDF (resolution gaussian fit)




